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EC-05
December - Examination 2016
B.A./B.Sc. Pt. lll Examination
Quantitative Methods
Paper - EC-05
Time : 3 Hours ] [ Max. Marks :- 100

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 udd
Gus & MGATTAR AT & IR QIS

Section - A 10x2=20
(Very Short Answer Questions)

Note: Answer the all ten questions. Answer of each question
should be given in 30 words. Each question carries 2
marks.

gug - ‘3’
(3fe TETRICHD 19
fAder: It g mel & IR RN TS U9 BT IR 30 gl A
ST TP W 2 3! Al gl

1) Answer the following questions:

o= meAt & SR <ol
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(1) Define the meaning of Standard Deviation.

A9 fereret g ST

(i) Explain the Approximation.

Af~1heT B THAT |

(111) Explain the continuous series.

Jrfafes—T vl B IHAEU

(iv) What do you mean by Bias in Sampling?
Tfcrer 5 SIRFERT | 31 T e ¢ ?

(v) Define Mode.

IgTD Dl IRHTR HIRT

(vi) What do you mean by coefficient of Variation.

foRUT-T[uTieh | 31T T T B ?

(vii) Define Symmetrical Distribution.

FHfAT faavor & gRarfia i

(viii)Explain the perfect correlation.

guf Ag-Ty Bl aRINT I

(ix) Define Pie-chart.

g R @1 aRwTY BTG

(x) Explain the Family Budget method.
qiRETR® sote fafdre! T9=msyl
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Section - B 4 x10=40
(Short Answer Questions)

Note: Answer any four questions. Each answer should be given

in 200 words. Each question carries 10 marks.

(Tvs - 9)
(oTg IR 99)

fAder: fhgl IR U9 & IR ST T U9 bl IR 200 2Mea

2)

3)

4)

S)

T U1 U g9 10 3T & gl

Distinguish between classification and tabulation.

FffepRur qUT IRV H 3R TS iU

What do you understand by ‘Central Tendency’? What are the merits
and demerits of the arithmetic mean?

bead UgRT A 3T AT FHS ¢ ? FHR 1&g H RI1-a1 o1
T 3FEUT IR I & ?

What is Positive and Negative Skewness?
gTcHD T SKUTTCHe fISHdT T gt & ?

From the following table find Ve (coefficient of co-relation):-

X-Series Y-Series

No. of items : 15 15
Arithmetic Mean : 25 18
Sum of squares of deviation from mean 136 138

Sum of product of deviations of X and Y

) =122
series from mean
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et el & FE-awde o Sd S (v, )i~

X-9off  y-uf}
gal dhl AT 15 15
TR H1eY 25 18

IRfdd H1ed | foTe ¢ fOere = & 1 @1 Sl 136 138
X 3R Y it & A1edt | fo=reri &t omati
&7 AN

How would you find out trend in time series by the method of least

=122

squares?
e ot fafd gRT oM Ue et Soft § IuART g B S
HN ?

Two random Variables - X and Y - hvae the following regression

equations:
3x+2y-26=0
6x+ y—-31=0
Calculate :-

(a) Mean values of X and Y.
(b) Coefficient of correlation.
(c) Ifvariance of X is 25, find cy.

31 AGe® TW-ed X 3R Y Frafed Ut o Feftenwor 1
W%z—

S I

3x+2y—-26=0

6x+ y—-31=0

3T) X 3R Y & geg-aH

9) X 3R Y § A8 ¥y H

%) oy TG X BT IR = 25 &l
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8)  Write down the Binomial expansion of (y — 1)°.

(y — 1)® @1 fgug R foaRau|

9) IfA=[gé and B:[ég then Prove that.
21 12
afg A=[0 5 | 3R B=[2 J?‘ﬁﬁ?ﬁﬂiﬁﬁm:

i (A+B)=A+P
(i) (AB)=B'A’

Section -C 2XxX20=40
(Long Answer Questions)

Note: Answer any two questions. Answer of each question should
be given in 500 words. Each question carries 20 marks.

(Tvs - W)
(e TR ¥ed)

fAder : fhgl g gol & IR ST U U9 BT SR 500 Mea) |
ST U g9 20 3T & Bl

10) What is sampling and what are its objectives? Describe the various

methods of selecting samples.

gfere fhd dgd 22 3R IS9P PpiH-dF A I29T BT 2°
yfgert & a9 &t Al dfat @1 guf| Hifsrol

11) Locate the missing frequencies in the following distribution when
median and mode are 27 and 26 respectively.
T afdfq arquf e & orea SmgfrEl & A @ KRR IR
HeIPT 3R T8I P qed P 27 3R 26 &:
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Class interval 0-10 10-20 | 20-30 | 30-40 | 40-50
CRIESK
Frequenc

12) The Number of runs scored by two batsmen Shewag and Dravid in

different innings, is as follows:-
VeI 3R gfdg qF geaiaml &l A= uiRat 9 Ste |
8-

Shewag | o Tiis | o6 | 73 | 07 | 19 119 36 | 84 | 29
HEATT
Pravid | 1 12 | 76 | 42 | 04 | 51|37 |48 | 13 | 00
CEE

Who is the better run-getter? Who is more consistent?

GFI H P 3BT SI THMaTel 8 ? B 3feIdh TIa g 2

13) (a) Calculate Fisher's Ideal Index Number from the following data.

frAfeRad d9el | fher @1 argel i affora ity

Commodity | Base Year (3R d¥) | Current Year (awg\arq‘)
g Price Quantity Price Quantity
DI gl I CIEl
A 12 100 20 120
B 04 200 04 240
C 08 120 12 150
D 20 60 24 50

(b) Why Fisher's Index Number is called ideal index number?
fheR & gadich Bl 3G Jadidh ai Hed ¢ 2

EC-05/500/6 (6)




